Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Afternoon Session

Q1. was the last British Governor General/Viceroy.
A. Lord Willingdon B. Lord Mountbatten
C. Lord Linlithgow D. Lord Wavell

Q1. sifas Rfeer ae SFoRer/araaT g

A. dis fafdferss B. @S A3cdcA

C. dis fersforan D. @S ade

Q2. Unified Payment Interface (UPI), a mobile application which will be common across all
banks and financial institutions, launched by the Central Government is known as

A. BHIM (Banking Integration on Mobile) B. BHIM (Banking and Housing Integration for
Mobile)

C. BHIM (Banking Interface for Mobile) D. BHIM (Bharat Interface for Mobile)

Q2. TRIFA AT $eThH (F.N.38.), St vw Aars vRRaH ¢ O Fg TER garT g 1 715 ¢ A S weh

dF1 3k R gEuEt & 3me @ seen, 39 F ATH ¥ ST ST B

A. s (AeTser T ST ThRToT) B. #ft (Mersd & faw dfFer 3k g3 vdhieon)

C. 7 (Aesd & foT T Sehd) D. i (HeTsd F fAT HRT SehA)

Q3. Which one of these rivers does NOT drain into the Arabian sea?

A. Narmada B. Tapti
C. Sabarmati D. Kaveri
Q3. 31 ¥ Fia # 7 3R IR A 7 AR &2

A. wF#er B. rceh
C. |IaRAN D. &radl

Q4. Pradhan Mantri Krishi Sinchai Yojana aims at

A. Improving water use efficiency and provide ‘Per B. Achieving housing for all by year 2022
drop more crop’

C. Alleviating of poverty of the poor by 2020 D. Providing medicines at affordable cost across
the country

Page 1 of 35



=

Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Afternoon Session

Q4. yureest FY =S D 1 oy gl

A. STeT 3TN eaTdl A GUR Al 3R il 319 3ferh B. 9% 2022 % |sft & fow 3mare it sqaear we
el Yelel el

C. 2020 d% &t T IS T FATCT AT D. &2 ¥ H & HIAT W &al STl el

Q5. Pandit Bhagwat Dayal Sharma was the first of Haryana.

A. Governor B. Chief Minister

C. Advocate General D. Speaker of legislative assembly

Q5. uf3a #erad gaTer AT gRATON & yuH &)

A. TSgUTe B. HEgHA

C. Usdlhe Sfeilel D. faemsi&e & reget

Q6. Which district of Haryana is known for its three very important battles in the history of
India?

A. Jind B. Panipat

C. Kurukshetra D. Hisar

Q6. gﬂ'mmmmmﬁrmma;sﬁgmﬁmmnﬁqﬁm?mm@%?
A. Siig B. dr=iad

C. Foe D. fgar

Q7. First Haryana Legislative Assembly elections were held in

A. 1967 B. 1968
C. 1969 D. 1971
Q7. vl gRaAToN fauter waT TATw # gam |

A. 1967 B. 1968
C. 1969 D. 1971
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Q8. Match the following and mark the correct option.

Column I (Rulers) Column II( Battles)
A | Ahmed Shah I First battle of Panipat
Abdali
B | Babur II Second battle of Panipat
C | Akbar ITII | Third battle of Panipat
A. A-III, B-II, C-I B. A-I, B-II, C-III
C. A-II, B-1, C-III D. A-III, B-I, C-II

Q8. AFfafla &1 fAae w1 3t 7 Rees | P weme|

WY 1 (VD) W™ 11 (FSTedN)
A | oehg TE el | I | UHTad @1 deal aoR
B | 9] II | griud @ gl dsi
c | PR III | gHiUd @& dill oy
A. A-III, B-II, C-I B. A-I, B-II, C-III
C. A-1I, B-1, C-III D. A-III, B-I, C-II

Q9. Kingdom of Dreams is India's first live entertainment, theatre and leisure destination.
Where is it situated in Haryana?

A. Faridabad B. Gurugram

C. Ambala D. Hisar

Q9. fFITEH 3% NFW AR FT Ygel o8d HARSTeT, AT 3 3rash1er siqex ¥ I sl & wg7 Rya §2
A. HleTsTe B. T%arH

C. 3F&Tern D. fgar

Q10. When is the International Yoga Day celebrated?
A. 21st June B. 23rd June
C. 22nd June D. 20th June

Q10. IR AT aw Fa AATT SATaT §2?
A. 21 S5fF B. 23 S«

C. 22 S D. 20 S
LN LN
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Q11. Which district of Haryana has the lowest literacy as per 2011 census?
A. Palwal B. Sirsa
C. Mewat D. Sonipat

Q11. 2011 T ANV F HTAR, §RATOM geer F1 Haram fSrar wraRar X # gad w1 §2
A. gergel B. fa=ar

C. Hard D. g

Q12. Which state was the partner of Haryana in the Surajkund Mela held in February 2017?
A. Karnataka B. Rajasthan
C. Telangana D. Maharashtra

Q12. W&l 2017 # AT g qTorgs AA F gRAON F MR Fla @1 T=7 U912
A. Falesh B. roreyTeT

C. deaT=T D. AERTSE

Q13. Recently Haryana won against Kerala in which of the following sports events?

A. Indian Chess Championship B. National Youth Athletics Championship
C. Santosh Trophy D. Pro Wrestling League

Q13. & & & gRIOT A I F o Frafaf@a # ¥ 5w @ ot & i gof i fi?

A. ARAT sl AT B. TS gaT vydfesy Afeqzafg

C. Ty grdr D. 9t Ygfoier ofer

Q14. Which three-day event took place from March 17, 2017 to highlight the contribution of
Haryana in the field of literature?

A. Haryana Book Festival B. Haryana Literature Festival

C. Haryana Sahitya Sangam D. Haryana Sahitya Vikas

Q14. IRRT & &7 A NIV & AIE F 39APR F1 F AT 17 A 2017 F By e Ry siwEA smatee=
R T ar?

A. gRITOT gEas FElead B. gRATOT Aifgcd HAgleda
C. gRamm aifgea darA D. gRamoT aiitca Remw
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Q15. Banabhatta wrote the biography of

A. Harshavardhana B. Akbar

C. Babar D. Hemchandra Vikramaditya
Q15. SToTsE A & Shiasit fad ot

A. gYate B. 3rhe

C. R D. gHdg ashaTeed

Q16. Which is the first national newspaper of Haryana?

A. Dainik Jagaran B. Haribhumi

C. Dainik Bhaskar D. Dainik Patrika
Q16. FRATON &7 YgaT TSET FATAR TF FleT AT 82

A. S ST B. gRefA

C. e e D. &fieh gfenr

Q17. 'Suryodaya Ki Dharati Japan Se' is the travelogue of

A. Kaak B. Manish Joshi Bismil
C. Girish Karnad D. Shekhar Gurerak
Q17. 'gafex #r el Jrarer ¥ #1 ITT geaid B

A. & B. FelIY el fafeaer
C. forfrer aweits D. R T

Q18. Who built the famous “"Rock Garden” in Chandigarh?

A. Nek Chand Saini B. Ashok Sharma
C. Dalbir Singh D. Goldy Malhotra
Q18. 93Ie & g "& IS’ & RNeuaR Fia 42

A. A% dog Hell B. 3720 AT

C. geR &g D. 3MesT HograT
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Q19. Shivalik hills cover part of Haryana.

A. North Western B. North Eastern
C. South Eastern D. South Western
Q19. Rafa® $r ggifzar gRamon & T F FaT FIAT &1

A. 3cat afRasly B. 3coR qdf

C. gfayor gdf D. gfeyoT afersy
Q20. Karoh Peak is the highest point of of Haryana.

A. Mewat Hills B. Aravalli Hills
C. Morni Hills D. Dhansi Hills
Q20. FRY Fr A ghaTom i FT IH AT T g

A. Aardg & vgifgar B. 3RTTe I qgIfsar
C. AR $r ggifzar D. eridr T gz

Q21. Which district of Haryana has the largest wholesale cloth market of Asia known as
shaurie market?

A. Rohtak B. Ambala
C. Panipat D. Rewari

Q21. RN # Ry S # 4l 9R, vy &1 JeW 9371 NF FUEt FTIER §?
A. Ugds B. 31&dTell

C. uriadg D. arsr

Q22. Which of the following is the main seasonal river of Haryana?

A. Yamuna B. Dohan
C. Indori D. Ghaggar
Q22. s ¥ Fier Y 7Y gRATOT Fr FET AaA 7 72

A. FHAT B. alg=l

C. S=anr D. 99R
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Q23. Which city of Haryana is known as the “City of Scientific Instruments”?
A. Maham B. Ambala

C. Fazalpur D. Kalanwali
Q23. AT FT FieT AT AT AT ITHIUIT FT AL F ATH W AT SATaT 82
A. AgH B. 31&Tell

C. ®ISTelqX D. Srlidrelr

Q24. Who appoints the Attorney General of India?

A. President of India B. Prime Minister of India
C. Governor of India D. Vice President of India
Q24. HRA & el Fellel P FeT fAFFT FIaT 82

A. AR & Tsgafa B. ¥R & TYTAHAT

C. ¥R & TsgdTel D. #Rd & 3wrsgufd

Q25. Who is the present Governor of Haryana?

A. Kaptan Singh Solanki B. Jagannath Pahadia

C. Om Prakash Verma D. Captain Abhimanyu Singh
Q25. RN & TIATT Tt FieT §2?

A. &edre f8g dreleht B. ST TgTSaT

C. 31 Seprer gAT D. &t HAAY &g

Q26. What is the maximum strength of the Lok Sabha as per constitution?

A. 550 B. 530
C. 542 D. 552
Q26. WU ¥ AR, AFasT A sfFaw afFT = &2

A. 550 B. 530
C. 542 D. 552
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Q27. Which among the following Haryana districts is famous for handlooms?

A. Panipat B. Karnal

C. Rewari D. Yamunanagar
Q27. aﬁwmmaﬂamﬁmawﬂ*mm@%?

A. 9l B. &teTer

C. Yarsr D. THATIR

Q28. Which is the biggest industrial city of Haryana and North India?

A. Bawal B. Manesar

C. Faridabad D. Narnaund
Q28. R 3 3eaT W &1 FaH 37 JHgA AT 2 o1 w7182

A. Sare B. AR

C. wlierEg D. dAR=lg

Q29. Crocodile Breeding Centre is situated in district of Haryana.
A. Faridabad B. Rewari

C. Panipat D. Kurukshetra
Q29. AIRATS Yslold Fg AN & forer & feua B

A. ®ETETe B. Yarsr

C. greirad D. FearT

Q30. Pick the odd one out:

Plant, Leaf, Flower, Fruit
A. Plant B. Fruit
C. Leaf D. Flower

Q30. I FT TAT HI:

ater, gecll, &, e
A. giem B. Bl
C. 9cdr D. el

a

Page 8 of 35



Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Afternoon Session

Q31. Find the analogy.

Gda: Adg:: Tgn:?

A. NtQ B. Nqt
C. nqt D. nTq

Q31. AT g&|

Gda: Adg:: Tgn:?
A. NtQ B. Nqgt
C. nqt D. nTq

Q32. What should come at the place of question mark (?) in the following number series?
3, 8,27, 112, 565, ?

A. 2789 B. 3396

C. 1254 D. 4116

Q32. Aol sear H@ar & yea Rea (?) F T 9T F4T g A1fRe?

3, 8,27, 112, 565, ?

A. 2789 B. 3396
C. 1254 D. 4116

Q33. If in a coding scheme, COME is written as 513153, how will be GO coded as?
A. 715 B. 76
C. 157 D. 67

Q33. 3¢ ts #iz 59T ¥ COME &Y 513153 for@r sirar § af GO &t a1 for@n sireen?

A. 715 B. 76
C. 157 D. 67

Q34. Find the value of X in the following equation:

-5(X + 3) = 10X
A. -1 B. -2
C.-3 D. -4
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Q34. Rrafaf@a gdtwIor & X F71 A AFe:

-5(X + 3) = 10X
A. -1 B. -2
C. -3 D. -4

Q35. If P(A) = 0.1, P(B) = 0.2, P(B|A) = 0.3 and P(A N B) = 0.11, find P(A|B).

A. 0.62 B. 0.55

C.0.43 D. 0.35

Q35. Ifd P(A) = 0.1, P(B) = 0.2, P(B|A) = 0.3 3k P(A N B) = 0.11 & & P(A|B) &I A ATl
A. 0.62 B. 0.55

C.0.43 D. 0.35

Q36. The price of a single movie ticket is Rs.250. Anil buys 10 movie tickets at 5% discount.
Calculate the total amount paid by Anil for the tickets.

A. 2375 B. 2000
C. 1985 D. 2455

Q36. TF e it Repe F fHwra 250 794 T 3T 5% Fe W 10 Rae @ligar 71 Ifaa & 37 el & e
e sparane far?

A. 2375 B. 2000

C. 1985 D. 2455

Q37. Aruna earns a profit of Rs.2300 by selling her gold bangle for Rs.35600. What is the
cost price of the bangle?

A. 32000 B. 30000
C. 31200 D. 33300

Q37. 35600 T9A # T WA FT FHleT daet T IFUM FI 2300 FUA FT W1 BXAT 8| FI1T T HT Hed haiar 412

A. 32000 B. 30000

C. 31200 D. 33300

Q38. In an electric cell, energy is converted into electrical energy.
A. mechanical B. nuclear

C. chemical D. light
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Q38. U e A &, Fait fagga st # e el B
A. Iiffs B. WR&ATI
C. THAfIh D. YTl

Q39. A chemical reaction in which a water molecule is added to the substance (reactant) is

called

A. Hydrolysis B. Electrolysis

C. Catalysis D. Photolysis

Q39. s warEfaE sfafkar orwsd sa & v o] # vard (Afrene) F framar s g 3@
ST g1

A. FISSIeTS e B. gaagiensiad

C. Feremsfad D. Blelasiad

Q40. Transpiration in leaves of higher plants takes place through

A. Stomata B. Stalk

C. Chloroplasts D. Vacuoles
Q40. 5% viul & geal & FeaT F ATEYA @ g B

A B. adT

C. FARITARFT D. RfFawre
Q41. is the synonym of "ASYMMETRICAL".

A. Not regular, uneven B. Not having clear views
C. Not being co-operative D. Unbelievable
Q42. is the antonym of "ABUNDANT".

A. Profuse B. Plentiful

C. Ample D. Scarce
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Q43. Identify the meaning of the idiom.

"Back to the drawing board."”
A. Be realistic B. Calculate all risks

C. Start all over once again D. Make proper planning

Q44. The sentence given below may contain one or more mistakes. Identify the correct
sentence.

"The man were taken to hospital for treatment.”

A. The man were taken to the hospital for B. The man was taking to hospital for treatment.
treatment.

C. The man was taken to the hospital for D. The man was taking to the hospital for
treatment. treatment.

Q45. Complete the sentence by choosing the correct form of the verb given in brackets.

The boy (break) the glass window yesterday.
A. breaks B. is breaking
C. has broke D. broke

Q46. % Uec FT TATATH 2o TASY |

3edTal
A. =g B. &g
C. §sR D. & d

Q47. ¥ arsg 1 Al (faaer) 3 sarsd |

3mem
A. 3FfRersT B. 3mEAT
C. famem D. 3menfead
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Q48. R ford Y@ifFa Feray 1 3R ard qard |

9 ¥ AR O A T F =1 93 § e F Aerer arat F arar quf wwar 1
A. 37T 1o aTelY T e ST IG=TT B. T SrefaT
C. IRT 31X BRI §7 AT D. ST o9 ST

Q49.ah?}mama:ra§aa:raaﬁ|

Cra
A. Ser3i B. dert
C. Serd D. ¢

Q50. A fo@ ersg FT vFaaa T |

R
A. T1S B. @ramm
C. Tnfzar D. g1t

Q51. In Technical Drawing, what is "drawing to scales"?

A. Measurement of a Technical Drawing B. Reduction or enlargement of the accurate sizes
of the machine parts

C. Mapping of a Technical Drawing with the actual D. Representation of machine parts in a Technical

machine parts Drawing
Q51. dF-rh @R &, "o Fr " Fur @2
A. TFeiehT Y@TTIT T AT B. #efieT & TREdl & |l 3MehRT H St a1 g

C. 7T F aredfas BEAT & ATY deheiiehl I@TAT FT D. deraitehl I@T & 72MeT & BEat T weda
AR

Q52. What is a scale ruler used for?

A. Transferring measurements at a fixed ratio of B. Measuring the length of actual objects
length

C. Making three-dimensional blueprints D. Drawing cross-sections of machine parts only
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Q52. T Tl Fol HT 39ATr fFy AT fFar sirar 82

A. TFSTS & Ueh fATRE 3feura O AT &1 TATATRT B. arecifdeh a&q3il &1 oiFrs H9e & faw
e & faw

C. F3-3marel seffiic IR #e & faw D. shael FAMeT & REHT & IR-3HTHIEN T I@IAT &elled
T

Q53. Which of the following proportions represent a standard reducing scale?

A. 5:1 B. 1:10
C. 50:1 D. 2:1
Q53. rafafad # ¥ i a1 3T, v AT FgEEr A w1 afafafte Far d?
A. 5:1 B. 1:10
C. 50:1 D. 2:1

Q54. 20 centimeters length of line drawn on a sheet represents actual length of 2
centimetres. The Representative Fraction (R.F.) is:

A.1:10 B. 10:100
C. 1:100 D. 100:10

Q54. t% offc W Eit 1§ 20 AT Fwt a1 ada # 2 FhAeT aw @ F1 gl F @ 2 s
et (3N.TF.) &

A.1:10 B. 10:100
C. 1:100 D. 100:10

Q55. A diagonal scale is used to

A. determine length in three consecutive units B. evaluate two or more objects at one time

C. represent two units or a unit and it's sub- D. measure of lines parallel to the isometric axes

division

Q55. T Aol daEa F1 3TANT ¥ fore R Srar B

A. TIAR e sHhsaT & oFas FuiRa e & fow B. Ush THI H &1 AT 38Y TR T3 T FHodichel el
& fow

C. & SHISTT AT T SHhls 3R 3TF 3U-FoeT A g D. IARNT 3787 & AR BUT 3@i3it i A9 &

& foaw fere
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Q56. On a line AB, if you take any radius (R) greater than half of AB and then draw arcs
from A and B as centres such that they intersect each other, you get:

A. A line parallel to AB B. A line intersecting AB
C. A line perpendicular to AB D. A line at 45 degree to AB

Q56. T @I AB W, I 31T AB & 3t Red ¥ 318 o fFfl Bsam (R) dd g sk sad e fg F s H A
3R B ¥ 39 ¥R 919 Wiea § ¥ & QT v g@X Y Fred §r Toa § ar st fBrerar @

A. AB % AR &Ud T 3@r B. AB &' ShIcet drell Teh @7
C. AB WX of¥dd TUd Ts @l D. AB & 45 f33fy ot f&ug us @

Q57. What can you say about the circle in this image?

(/’
A. Inscribed B. Outerscribed
C. Escribed D. Circumscribed
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Q57. 3w i # @ & arat g & AR F N9 FAT FF WHA 82

//
A. 3deg AT R § B. siegeg fhar AT g
C. 3fgag Far = & D. uReg fFar = &

Q58. To construct a regular pentagon inscribed in a circle, we can use a combination of:

A. Set square and compass B. Straightedge and compass

C. Set square and mini drafter D. Mini drafter and compass

Q58. TF Joad # Ideag va Aafda deerer s & v, g fAwafaf@a & waterer &1 3uahr # a@d 8
A. 9 TR 3R FFaE B. ¥eust AR FHFura

C. ¥ic TFanry 3R &= grex D. &= s1%Fex 3iR e
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m

Q59.
Refer the given diagram. This is a step to inscribe a regular within the
circle.
A. Pentagon B. Hexagon
C. Triangle D. Any other polygon
B -
Q59. °
faw are Y@ # care @ 3| T§ vF goad F ¥ v fafRa FY HATE FIA HT TH =T ¢
A. T8 B. weaTsT
C. Tegst D. &5 3T e
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0
G
‘\E
H E
Q60. ¢

Refer the given image. The length of a side of the regular hexagon is

A. Is equal in length to half the radius of the B. Equal in length to the radius of the
circumscribed circle circumscribed circle
C. Is directly proportional to the radius of the D. Is inversely proportional to the radius of the
circumscribed circle circumscribed circle
0
K F
A (4]
K E
Q60. ¢
fw are for Y et @ 39| i weurer Y v ope A awar$ gl 1
A. 9REg gea @ B & 3 REd H orars & auew B, uRag god B BT B oS & e
C. 9Rag ged &1 FHAT & AT FATTAT D. uReg gec &I BFeam & faeliargard

Page 18 of 35



Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Afternoon Session

Q61. In the given image, the area of AABC is

A. Equal to the area of AABC; and more than that B. More than the area of AABC; and equal to that

of AABC, of AABC,

C. Equal to the area of AABC; and AABC; D. Lesser than the area of AABC; and more than
that of AABC;

Q61. BT 7w A &, AABC &7 819%d gl

A. AABC; & &19%d & seT 31k AABC; & 819%a & B. AABC; & &19%dl ¥ 318 31t AABC; & &% &

Khbcy CraCEy
C. AABC; 3R AABC; & &819%hd & ST D. AABC; & &19%d ¥ &# 31X AABC; & &19%d &
3

Q62. If you were to construct an isosceles triangle equal to the area of square which is 36
cm?, then, what will be the height of the constructed triangle if its base was the same as
the side of the square?

A. 6cm B. 36 cm
C.12cm D. 18 cm
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Q62. A TR 36 T3 HEHNCT &Tahel I T & A & A Toh HAGIAATE ST T g1 af 30 Foger

Far$ fhae gl IfY 3THT TR T3 F ITUR F FAA 8?2

A. 6 GdHI
C. 12 I

B. 36 §d&HeT
D. 18 #dHeT

Q63. In Third angle of projection, where does the plane of projection lie?

A. Between the observer and object

C. Behind the observer

B. Behind the object
D. Above the object

Q63. w&aIqur & NAY FIoT &, YA FT T Fel AT Qa1 2?

A. q’éﬂﬁaﬁ:aﬂtaﬁ%aﬁr
C. Tiagts & 9

Q64. Trapezium is a quadrilateral with:
A. One pair of parallel sides

C. No parallel sides

Q64. FHwFd IS T FaT TP & e

A. TF S FHATAR T el §

C. FI$ FAWACK T 6T Bl &

Q65. What is apothem in a pentagon?

A. The line from the center of the circle to a side,
intersecting the side at a 90° right angle.

C. The line joining two opposite corners of a
square, rectangle, or other straight-sided shape.

Q65. TF ST FT T FAT 82

A. T391ST & g @ 3HH! Teh 3T ek Wil 918 Teh 3T, i
3 $SIT T 90° o HHHIUT T FHIech ¢

C. Ueh g1, 31 IT 317 el 7T arell Thia & ar
AT fFART @ SigeT arell 3G@T|

B.maarth@

D. a%g & I

B. Two pairs of parallel sides

D. None of the above

B. &1 ST FATAIGR 7T gl §
D. 3RIad H & Fig HY 7187

B. The line from the center of the pentagon to a
side, intersecting the side at a 90° right angle.

D. A straight line passing from side to side
through the centre of a body or figure, especially
a circle or sphere.

B. Gl o she & IHeT Teh T deh Tiell 915 Teh T,
ST 3 &I T 90° & FHHIUT 9T FHIec B

D. Ueh ¥ AT 1A, @ AR W U ged AT el &
e & BIT §U Ueh S[STT A GELT $ST b ST aTell Teh ey
@l
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Q66. A hyperbola is

A. A section plane parallel to the axis B. A section plan parallel to the end generator
C. A section plane through generators D. None of the above

Q66. TF AT gl

A. 3187 & AT AT Teh ST el B. 31T SeRex & AT U Teh IHeTHT9T el
C. STeReX @ BlehT IoRet dTell Teh 33T el D. 3WIFd H & 15 off 718t

Q67. A point moves away from the pole O and reaches a distance of 50 mm while moving
around it once. Its movement from O is uniform with its movement around. Which type of
curve will you obtain?

A. Logarithmic spiral B. Archemedian spiral

C. Normal to a spiral D. Tangent to a spiral

Q67. T fdig O TN & FelolT YT FIcT § 3R 50 AT H gff TF FIA §T 3HHT T T ACAT §1 6 O ¥ T
AT AT { TAA GU SHHT TFh ST §1 AT T IHR T T5h 9Ied §ram?

A. ST it B. 3mehifAfsae afier

C. & g & AT D. T Tiger 1 ToeRar

Q68. Which of the following conic curves can be obtained by sectioning a right cone at
various angles?

A. Circle B. Ellipse

C. Parabola D. All of the above

Q68. Rffiew Fit W vw W 4F A WRT T Mrafaf@a & & Fla a1 dFaeR o yrod fFAr o1 gFar 82
A. I B. &réiged

C. Waer ™ D. 39erd |
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Q69.

If the diagram shows the relationship of 6 with different conic curves, what is 6?
A. Eccentricity B. Focus

C. Directrix D. Ellipse

]

Q69.

Iy T@RT F HAT-HeT AFIHR TH1 & WY O F Foaey Hr AT Ar g, ar 6 FAT 82

A. fadgar B. &g foig
C. forgar D. &reged

Q70. When should you use the Arc of the Ellipse method?

A. When the major and minor axis are given B. When the distance between the foci are not
given

C. When the distance of focus from the directrix D. When the major axis and minor axis of the
and eccentricity is given ellipse is given
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Q70. 39 'Edgea T °1q’ e w71 37T F FR@T WRT?
A. Sid 93 3R Bl 37T few a1w g B. 519 BIY & &y T gl 7 & 1S @1
C. 5 forgar 3R faehear & &g fdg T gl &1 a1$ &t D. S &Eiged & a3 3R oI a7 4T arv gt

Q71. In a sectional view diagram, interior parts of hollow objects hidden from view are
indicated with

A. Scaled lines B. Solid lines

C. Dotted lines D. Plane sections

Q71. UF FHENT T Y@ A, Rwm$ 7 & A, Wrae aF s & Ak eat A fr A @
e e ¥

A. WER 3@TT B. 3l Y@

C. deR @ D. T 3fegeraT

Q72.

Refer to the figure. What are the lines drawn at 45 degrees in the given figure used for?

A. These lines indicate surface that are cut by a B. These lines are imaginary lines used to cut
cutting plane. through an object.

C. These lines depict a broken out section. D. These lines depict a revolved section.
Q72.

Rw v R 7 eue @ 3| v v R # 45 B w i 1€ @t F1 35 R Qe e smar @2

A. 37 @31 & U Held dol & HIET IS Tdg T I B. I XWTU Teh T I Hh1eat o ToIT 3TN T SAleT arelr
ECGIE HTeUfeleh I@TT &

C. A WU Ueh WSl HeTT T a2l & D. T Y@TT T IREHTAT 31egemar &t gaifelr g1
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1
N1 \§ :
N \ '
YHNNWI
Q73. ! |
These images show a view.
A. Half section B. Full section
C. Offset section D. Broken-out section
R
r— N\
N N B
N
NSTINNE
Q73. ! I
IRTTE e R §
A. 3T JTTHTET B. qof 3regemar
C. 3iThAT 3T D. GfSd et

Q74. In Technical Drawing, which of the following sections project a quarter of a part?
A. Half section B. Full section

C. Offset section D. Broken-out section

Q74. aFshr YafaT #, wafaf@a & & Fler a1 srepomer v omer & v Ghrs Rt F vafla wwar 82
A. 3T JTTHTaT B. qOT 3fegatrar
C. 3T 3eT#TT D. @f3d 3regsirer

Q75. When it is required to remove an irregular portion of an object, a
view may be used.

A. Full section B. Revolved section

C. Rotated section D. Broken-out section
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Q75. 5= farelt avq F va AfAAAT o11er FY Fprerat A raRIFAr gt @, A v T T
3T fRAT ST WhaT gl

A. quT 3FegstreT B. IReIA 3regstrer

C. gfoid 37gsmeT D. TS 3egstrer

Q76. Which of the following statements is false about isometric drawings?

A. Isometric drawings are made considering the B. Isometric axes are decided based on a view-

object to be placed in a rectangular box. point of the object that shows the maximum
information regarding the object.

C. Isometric drawings show all visible lines and D. Isometric drawings are created only for regular

eliminates hidden lines unless absolutely objects.

necessary to describe the object.

Q76. FARANY W § IR # RefA@d Fya1 & & &l 91 FUT Taq 82

A. FATAIRT Y@taET &1 faATor g draex rar starg B, aAfAdR 3ref @ fFuRor avg & e tw Mg &
% a&q @I U ITAATRR dtery A @1 I 8 3MYR R foham SITar § S a6 & IR & 1t @ it
STTeTehRY S fedrelr g1

C. gafAC @ @il vegae @it & feard § 3k D. FAf#d d@rE=t @ Hair fh @affd aegsi &
T X@3it & FATCT A §, ST deh T T gUIT L fIT T ST g
3G g BTl

Q77.
Refer the given image.
Which of the following are NOT isometric axes?

A. AB B. BD
C. AE D. AD
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Q77.

RE a7 AT ) a1 ¥ 2
T & ¥ FiF, gafadT ey 38 2

A. AB B. BD
C. AE D. AD

Q7s.

Refer to the figure. The figure shows one of the steps in creating an isometric drawing.
Which of the following dimensions represent the front isometric plane?

A. H and D dimensions B. W and H dimensions

C. W and D dimensions D. D and H dimensions

o

RN

R 7T R 7 eue ¥ 38| 39 A & ve gAfAdT R g9= & ol & @ v =wor R @ §) fefe@a J
¥ Fi |1 I, TS TS FARADT a7 1 v ar ¥

A. H 3k D 3ma&#H B. W 31 H 3mame

C. W 3R D 3ma#H D. D 3iR H 3ma#H
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Q79. In an isometric drawing, what are non-isometric lines?

A. The edges of the rectangular box that encloses B. The edges which produce the view-point that

the object gives the maximum information about the object

C. The edges of inclined or oblique planes of an D. The edges that are constricted using the overall

object as represented in a multi-view drawing width (W), height (H), and depth (D) of the object

Q79. T& FAANT @R 7, R-waAfadT faw w2

A. IR SieFd & fohelk ST a&] 1 B | & B. et St 2e7-feig T 3culeet #id & St a&d & IR &
3R dH SR ST &

C. U Sg-797 X@ITRIT & &Y IR0 Ueh a8 & 319 A1 D. Ireq Y FHT A (W), FaE (H), 3R 7618 (D)

foRS delt & fohaars T 3YIT FHLh FATT T fHAR

Q80. Due to Optical Illusion, if the receding angle is less than 45 degrees, then receding

lines appear to be as compared to the true length.

A. longer B. shorter

C. equal D. skewed and shorter

Q80. 3iffTeer 5 ¥ FRT, AR wed g3 HIor 45 B F a7 ¥, A areafds Y@ A goran F wed A
_ vda@ard

A. &eT B. &H

C. gAT D. foR&T 3R oler

Q81. For an ellipse, the Eccentricity E is:

A. Equal to one B. Less than one
C. More than one D. Zero

Q81. vF dged & faw, fdear E 8:

A. T&H & TR B. U & &A

C. T& & HfU® D. =T

Q82. You are to draw the projection of the cone that has a base diameter 20 mm, axis
height 40 mm. The F.V of the cone will be a

A. Triangle B. Circle
C. Ellipse D. Parabola
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Q82. YS! UF F F TAIIUT HT Y@ITaT qarant ¢ Forad 3R &7 sarw 20 FAeffex 3k sra1 1 591§ 40 Frehefiex
1 oF 1w v i

A. TegsT B. gcd
S c
C. &rdged D. Raer T

Q83. A cone of base diameter 50 mm, axis height 60 mm is cut by a horizontal section plane
which is at a distance of 25 mm from the apex. You are to draw the projection of the cone.
Refer the given image.

X Y

The horizontal section plane will be at 25 mm

A. Above XY and parallel to XY B. On XY and perpendicular to XY

C. Below the apex and parallel to XY D. From the left vertex and perpendicular to XY
Q83. ofid g ¥ 25 FArehafter A gt T R v difcisr Irpeimar T A { T 4F FreH e 71241 § forwd arar

#1 a8 50 fAefefiey 3kt aret At 51§ 60 AT §1 3MTFT 37 4F F warqor F1 Y@ diaer 81 Rw v T wr
e ¥ 3

X Y

AT JrepTeT or 25 fAdHIe @ g

A. XY & FHATAR 3R XY & FIR B. XY ¥ dFad 3R XY W

C. XY & FHIR 3R My &g & = D. XY & egad 3R a1¢ Riax &
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Q84. Auxiliary Vertical Plane is a plane that is to the horizontal plane and to
the frontal plane.

A. Parallel, perpendicular B. Perpendicular, parallel

C. Perpendicular, inclined at an angle D. Inclined at an angle, parallel

Q84. We& 3taTt’ ad Us VAT a« § 5 &ifasr ao darg iR ITaTF gar 81

A. AR, d§dd B. dedd, AT

C. 9dd, Teh HI0T T ST G D. TS VT T ST G31T, FHAAIR

Q85. In the isometric projection, all the edges of an object along the direction of the three

isometric axes are foreshortened to times their actual length.
A. 0.816 B. 2
C. 1.026 D. 0.756

Q85. FAfAd wayor #, e wAfAdT 3radt At R A TE v T g F W ARt F 3@ aeafs awas
TAT TF FAS H TG § ST F ;T S0

A. 0.816 B. 2
C. 1.026 D. 0.756

Q86. Refer the given image.

How many isometric planes are there in the image?
Al B. 2
C.3 D. 4
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Q86. 2T 71T A # e ¥ &

'x(l‘(

A

3w R # fraa wafad ae @2
A1
C.3 D. 4

Q87. The shape resulting from the angled slice cross section of a solid cylinder will be:

A. Ellipse B. Rectangle
C. Oval D. Circle

Q87. UF 3 I & FIVIIFd gohs & IR ST & TROMATIRT fArerar arelt ampfar grefi:

A. &rdged B. 3ad
C. 38R D. ged
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Q88. For the given solid, identify the top view of the solid.

Top
Side
Front
B.
A.
C. D.
Q88. BT v 3 & fav, 31 & ofif 727 &' ygam|
Top
Side
Front
B.
A.
C D.
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Q89. Matrices for orthographic projections are defined as:

A. Top, bottom B. Left, right, near, far

C. Top, bottom, left, right, near, far D. Top, bottom, left, right
Q89. 3ifufanfrF waiquit & fore smeggl # Mearar aRenfe R s §:

A. 39, s B. €U, &TT, FeTeieh, §T

C. 3%, =1, a1, &I¢, efdieh, &I D. 3XR, =i, 17, g7

Q90. When the angle between the oblique projectors and the plane of projection is 45° and
the foreshortening factors for all three principal directions are equal, the resulting
projection is:

A. Cabinet projection B. Cavalier projection

C. Axinometric projection D. Isometric projection

Q90. 317 foad Weteext 3 wayor e & d &7 FI0T 45° F7 g § 3R A worw Rt F A qdadf FRE v
AT 81T § ar aRome waiaor g @t

A. Fae geigur B. Faferx gaqur
C. tfFgaafes geigor D. HHATT g&igor

Q91. What is the Representative Fraction (RF) if a 1.5-metre-long steel bar is shown by a
15-centimetre-long line on a drawing?

A. 10 B. 1/10

C. 1/100 D. 0.10

Q91. yfafafs Meer (3R.U%.) fFaar gham I 1.5 e 703 T IR ) va @R & 15 e ot @ @
@ I @2

A. 10 B. 1/10

C. 1/100 D. 0.10

Q92. A drawing drawn in inch units to a scale 5/8 of full size. Determine the inch scale LOS
if the scale measures up to 12 inches.

1 51

A. 2 inches B. "7 inches
3

C. #4inches D. 2 inches
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Q92. W IMFR & 5/8 & YA W g7 1 sF13AT # & W@ qarn 71 §| AR Y M AT 12 gT @y av s
YA FT U 30T, AT glem?

1 il
Az g B. 27 ¢=
22 42
C. 43q D. 284

Q93. Which of the following scale is used to measure angles?

A. Plain scale B. Vernier scale
C. Comparative scale D. Scale of chords
Q93. FUIT F AN & v Ferafaf@d # ¥ fFw SA7= F1 39T FAT FA171 82
A. gATS YATAT B. afeiax AT

C. JelelTcaeh YT D. Sfiar &1 YA

Q94. A pole of height 25.3 meters is shown as 10 cm in the elevation on a drawing.
Determine the RF.

A. 1/40 B. 1/253

C. 1/2000 D. 1/5

Q94. 25.3 #Hiex 59 tF G I T W@ # 10 WA Fu1 @ =21 ¥ 3R.h. AT I
A. 1/40 B. 1/253

C. 1/2000 D. 1/5

Q95. Which of the following conic section is obtained by when a section plane D-D, parallel
to the axis cuts the cone?

A. Ellipse B. Parabola
C. Hyperbola D. Rectangular hyperbola

Q95. fArafaf@a # & FlaT AFATHFR IHTHTT WIed 1T ¥ T 38T & AT YT U IHHTT I D-D, AF Y
Frear g?

A. &rdged B. e
C. 3foRaes D. 3IdeR fawder
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Q96. The orthographic view of the top of an object is called as

A. Plan B. Elevation

C. End elevation D. Viewing plane
Q96. ¥ avq F ofi¥ & itafanfrs weg A T AT ¢l

A. do B. a5

C. 3fan Fa1$ D. TF daf

Q97. In an isometric drawing, the horizontal lines in the width and depth planes are shown
at degrees to the

A. 60, vertical B. 45, horizontal

C. 30, horizontal D. 90, vertical

Q97. T& FHTAN @R #, =i 3k e qat & afas ramt & w0 H e
W @ Sar

A. 3EaTER, 60 B. &ifasr, 45

C. &ifas, 30 D. 3&a1tR, 90

Q98. One view of a perpendicular plane is always a view.
A. Top B. Side

C. Edge D. Front

Q98. UF daad dd T U 77 gAT Th T 77 gaT Bl

A. 3 B. SaTel

C. fFamt D. @A

Q99. Identify the type of sketch in which circular features appear as circles and not as
ellipses.

A. Isometric B. Oblique

C. Axonometric D. Orthographic

Q99. @R ¥ YR I Tga A MNATFR FAYATE g & w9 A, 7 ¥ dreigea & & A R@rd & &1
A. g B. foer

C. traAAeH D. 3rdfanfrs
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Q100. Identify the type of line that terminates with arrow-head or dot at one end.
A. Visible B. Extension

C. Dimension D. Leader
Q100. Y& & YR FT Tgdr ot e Y o X & A a1 foig & wrer warea gl 81
A. TIAT B. fA&ar

C. 3marH D. 3raoft
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